



KILBAHA MULTIMEDIA PUBLISHING	TEL: (03) 9018 5376
PO BOX 2227	FAX: (03) 9817 4334
KEW VIC 3101	kilbaha@gmail.com
AUSTRALIA	http://kilbaha.com.au

# IMPORTANT COPYRIGHT NOTICE

- This material is copyright. Subject to statutory exception and to the provisions of the relevant collective licensing agreements, no reproduction of any part may take place without the written permission of Kilbaha Pty Ltd.
- The contents of this work are copyrighted. Unauthorised copying of any part of this work is illegal and detrimental to the interests of the author.
- For authorised copying within Australia please check that your institution has a licence from Copyright Agency Limited. This permits the copying of small parts of the material, in limited quantities, within the conditions set out in the licence.
- Teachers and students are reminded that for the purposes of school requirements and external assessments, students must submit work that is clearly their own.
- Schools which purchase a licence to use this material may distribute this electronic file to the students at the school for their exclusive use. This distribution can be done either on an Intranet Server or on media for the use on stand-alone computers.
- Schools which purchase a licence to use this material may distribute this printed file to the students at the school for their exclusive use.
- The Word file (if supplied) is for use ONLY within the school.
- It may be modified to suit the school syllabus and for teaching purposes.
- All modified versions of the file must carry this copyright notice.
- Commercial use of this material is expressly prohibited.

# **SECTION 1**

# ANSWERS

1	Α	В	Γ	С	D	Е
2	Α	В		С	D	Е
3	Α	В		С	D	Е
4	Α	В		С	D	Е
5	Α	В		С	D	Е
6	Α	В		С	D	E
7	Α	В		С	D	Е
8	Α	В		С	D	Ε
9	Α	В		С	D	Ε
10	Α	В		С	D	E
11	Α	В		С	D	Ε
12	Α	В		С	D	Ε
13	Α	В		С	D	Ε
14	Α	В		С	D	Ε
15	Α	В		С	D	Ε
16	Α	В		С	D	Ε
17	Α	В		С	D	Ε
18	Α	В		С	D	Ε
19	Α	В		С	D	Ε
20	Α	В		С	D	Ε
21	Α	B		С	D	Ε
22	A	B		С	D	E

# **SECTION 1**

Question 1

Answer A

|x-2k| < k-k < x - 2k < k k < x < 3k or (k,3k)

Question 2

Answer A

average value 
$$\overline{y} = \frac{1}{b-a} \int_{a}^{b} f(x) dx$$
  
 $\overline{y} = \frac{1}{2-0} \int_{0}^{2} \left( 2x + 2\sin\left(\frac{\pi x}{2}\right) \right) dx$   
 $\overline{y} = \frac{1}{2} \left[ x^{2} - \frac{4}{\pi} \cos\left(\frac{\pi x}{2}\right) \right]_{0}^{2}$   
 $\overline{y} = \frac{1}{2} \left[ \left( 4 - \frac{4}{\pi} \cos\left(\pi\right) \right) - \left( 0 - \frac{4}{\pi} \cos\left(0\right) \right) \right] = \frac{1}{2} \left[ 4 + \frac{8}{\pi} \right]$   
 $\overline{y} = 2 + \frac{4}{\pi} = \frac{2(\pi + 2)}{\pi}$ 

	2 1,3	*Method:	2011 🗢	a laví	
$\frac{1}{2}$	x+2 sin	$\left(\frac{\pi x}{2}\right) dx$		<u>2'(π</u>	
1	-				-
					1/99

# Question 3

Answer B

$$y = \frac{ax+b}{x+c} = a + \frac{b-ac}{x+c}$$

so y = a is a horizontal asymptote and x = -c is a vertical asymptote.

Question 4

Answer D

$$f(x) = x^{2} , g(x) = \frac{1}{x} \text{ and } h(x) = \cos(x)$$

$$\frac{d}{dx}(\tan(x)) = \frac{1}{\cos^{2}(x)}$$
now  $g(f(h(x))) = g(f(\cos(x))) = g(\cos^{2}(x)) = \frac{1}{\cos^{2}(x)}$ 
so  $\frac{d}{dx}(\tan(x)) = \frac{1}{\cos^{2}(x)} = g(f(h(x)))$ 

Answer B

$$f(x) = \sqrt{x-a} + \sqrt{b-x}$$
  
the domain requires  $x-a \ge 0$  and  $b-x \ge 0$   
that is  $x \ge a$  and  $x \le b$  since  $b > a > 0$   
the domain is  $[a,b]$   
now  $f(a) = f(b) = \sqrt{b-a}$   
 $f'\left(\frac{a+b}{2}\right) = 0 \Rightarrow$  turning point at  $x = \frac{a+b}{2}$   
and  $f\left(\frac{a+b}{2}\right) = \sqrt{2(b-a)}$   
the range is  $\left[\sqrt{b-a}, \sqrt{2(b-a)}\right]$   
$$\boxed{1111213} \frac{131}{2} \frac{$$

### Question 6



$$\Delta = \begin{vmatrix} p & 3 & 1 \\ 2 & -1 & 2p \\ 1 & 4 & p \end{vmatrix} = -9(p^2 - 1)$$

solving using CAS gives

$$x = \frac{2}{p+1}$$
  $y = 1$  and  $z = \frac{2}{p+1}$ 

Since  $\Delta = 0 \implies p = \pm 1$ , there is no unique solution when  $p^2 = 1$ ,

there is a unique solution when  $p^2 \neq 1$ . When p = -1 there is no solution and when p = 1 there is an infinite number of solutions. Only option **E.** is correct.

solve(p:x+3;y+z=	5 and 2 x-y+2 p z=3 an	id x⁺
	$x = \frac{2}{p+1}$ and $y = 1$ and $z =$	2 p+1
$det \begin{bmatrix} p & 3 & 1 \\ 2 & -1 & 2m \end{bmatrix}$	-9 (p	2 <sub>-1</sub> )
$\begin{bmatrix} 2 & 1 & 2p \\ 1 & 4 & p \end{bmatrix}$		
	- D	ŧ.
		219

Page 6

### Question 7 Answer A

When the point (2, -3) is reflected in the *x*-axis, it becomes, the point (2, 3), when it is translated one unit, to the left parallel to the *x*-axis, or away from the *y*-axis, it becomes (1,3), finally it is translated one unit up parallel to the *y*-axis or away from the *x*-axis, it becomes (1,4) under y = 1 - f(x+1).



```
Question 11 Answer D
\frac{dy}{dx} = 4e^{-\frac{x}{2}} \implies y = \int 4e^{-\frac{x}{2}} dx
```

$$y = -8e^{-\frac{x}{2}} + c \text{ now when } x = 0 \quad y = 0$$
$$0 = -8 + c \implies c = 8$$
$$y = 8\left(1 - e^{-\frac{x}{2}}\right)$$

Answer B

Let 
$$f(x) = e^{-x}$$
 Now  $\frac{1}{e^{0.99}} = e^{-0.99} = e^{-(1-0.01)}$   
with  $x = 1$  and  $h = -0.01$ ,  
using  $f(x+h) \approx f(x) + hf'(x)$   
 $\frac{1}{e^{0.99}} = f(1) - 0.01f'(1)$ 

Question 13

Answer C

$$y = 8\cos\left(\frac{x}{2}\right) \implies \frac{dy}{dx} = -4\sin\left(\frac{x}{2}\right)$$
  
gradient of the tangent  $m_T = \frac{dy}{dx}\Big|_{x=\frac{2\pi}{3}} = -4\sin\left(\frac{\pi}{3}\right) = -2\sqrt{3}$   
gradient of the normal  $m_N = \frac{1}{2\sqrt{3}} \times \frac{\sqrt{3}}{\sqrt{3}} = \frac{\sqrt{3}}{6}$ 

1,3 1,4 1,5	*Methods 2011 😴	
$\frac{d}{dx} \left( 8 \cdot \cos\left(\frac{x}{2}\right) \right)$	-4 si	$\left(\frac{x}{2}\right)$
$-4 \cdot \sin\left(\frac{x}{2}\right)  x = \frac{2 \cdot \pi}{3}$	-2	2∙√3
$\frac{-1}{-2\cdot\sqrt{3}}$		$\frac{\sqrt{3}}{6}$
1	14	
		3/99

# **Question 14**

Answer A

$$f(x) = \frac{x^2}{g(x)} \text{ using the quotient rule}$$
  

$$f'(x) = \frac{2xg(x) - x^2g'(x)}{[g(x)]^2}$$
  

$$f'(3) = \frac{6g(3) - 9g'(3)}{[g(3)]^2} \text{ now } g(3) = 2 \text{ and } g'(3) = 1$$
  

$$f'(3) = \frac{6 \times 2 - 9 \times 1}{2^2} = \frac{3}{4}$$

Question 15 Answer A  $\int_{2}^{0} (2x - f(x)) dx$   $= \left[ x^{2} \right]_{2}^{0} - \int_{2}^{0} f(x) dx = (0 - 4) + \int_{0}^{2} f(x) dx = -4 + 2 = -2$ 

**Question 16** 

Answer B

$$Pr(-a < Z < -b)$$

$$= Pr(b < Z < a)$$

$$= Pr(Z < a) - Pr(Z < b)$$

$$= (1 - Pr(Z > a)) - (1 - Pr(Z > b))$$

$$= (1 - A) - (1 - B)$$

$$= B - A$$



### Question 17

#### Answer D

The shaded area, with the *x*-axis is  $\int_{b}^{b}$ 

$$A = \int_{a} (y_2 - y_1) dx \text{ with } a = 0 \quad b = 1 \quad y_2 = 2 \text{ and } y_1 = x^2 + 1$$
$$A = \int_{0}^{1} (1 - x^2) dx$$

however this is none of the alternatives, the area with the *y*-axis, is

 $A_{y} = \int_{c}^{d} x \, dy \quad \text{with} \quad c = 1 \quad \text{and} \quad d = 2 \quad y = x^{2} + 1$  $\Rightarrow x^{2} = y - 1 \quad \text{and} \quad x = \sqrt{y - 1} \quad \text{since} \quad x > 0$  $A = \int_{1}^{2} \sqrt{y - 1} \, dy = \int_{1}^{2} \sqrt{x - 1} \, dx \quad \text{using dummy variable property.}$ 



Answer E

 1.4
 1.5
 1.6
 Methods 2011
 Image: Constraint of the state of the state



$$f(x) = x^{3} - 5ax^{2} + 7a^{2}x - 3a^{3} = (x - a)^{2}(x - 3a)$$
  
$$f'(x) = 3x^{2} - 10ax + 7a^{2} = (x - a)(3x - 7a)$$
  
there are turning points at  $x = a$  and  $x = \frac{7a}{3}$ ,

for the function to be one-one, the only correct option is the restricted interval  $\left(\frac{7a}{3},\infty\right)$ 

# Question 19 Answer D

Since A and B are independent events,  $Pr(A \cap B) = Pr(A)Pr(B) = ab$ 

$$\begin{array}{c|cccc}
A & A' \\
B & ab & b-ab \\
B' & a-ab & 1-a-b+ab \\
a & 1-a \\
\end{array} b$$

$$\Pr(A' \cup B') = \Pr(A') + \Pr(B') - \Pr(A' \cap B')$$
$$= (1-a) + (1-b) - (1-a-b+ab)$$
$$= 1-ab$$

#### Answer C

Three right rectangles, each of width  $h = \frac{\pi}{6}$ 

x	0	$\frac{\pi}{6}$	$\frac{\pi}{3}$	$\frac{\pi}{2}$
$y = \sin(x)$	0	$\frac{1}{2}$	$\frac{\sqrt{3}}{2}$	1

The shaded area of the three rectangles is  $A = \frac{\pi}{6} \left( \frac{1}{2} + \frac{\sqrt{3}}{2} + 1 \right) = \frac{\pi}{6} \left( \frac{3 + \sqrt{3}}{2} \right) = \frac{\pi \left( 3 + \sqrt{3} \right)}{12}$ 

**Question 21** 

Answer C

 $X \sim \operatorname{Bi}(n, p)$ 

#### **Question 22**

#### Answer E

One solution when n = 0 is  $x = -\frac{\pi}{6}$  so that  $2x = -\frac{\pi}{3}$  and  $\tan(2x) = -\sqrt{3}$   $\frac{\sin(2x)}{\cos(2x)} = -\sqrt{3}$  or  $\sin(2x) = -\sqrt{3}\cos(2x)$ or  $\sin(2x) + \sqrt{3}\cos(2x) = 0$ so the general solution of  $\sin(2x) + \sqrt{3}\cos(2x) = 0$  is  $x = \frac{n\pi}{2} - \frac{\pi}{6} = \frac{(3n-1)\pi}{6}$  where  $n \in \mathbb{Z}$ a = 1 and  $b = \sqrt{3}$ 

1,5 1.6 1,7	*Methods 2011 🗢	
solve(sin(2x)+y)	$\overline{3} \cdot \cos(2 \cdot x) = 0, x$	
	x= (3 n1	-1) π
_		6
-		1/99

### **END OF SECTION 1 SUGGESTED ANSWERS**

### **SECTION 2**

### **Question 1**

**a.i.** 2 marks, for correct transformations

- reflection in the *x*-axis
- dilation by a factor of 4 parallel to the *y*-axis ( or away from the *x*-axis)
- translation by 3 units to the right parallel to the *x*-axis, ( or away from the *y*-axis )
- translation by 4 units up and parallel to the *y*-axis, ( or away from the *x*-axis )

ii. 
$$m: y = 4 - \frac{4}{(x-3)^2}$$
 interchanging x and y  
 $m^{-1}: x = 4 - \frac{4}{(y-3)^2}$   
 $\frac{4}{(y-3)^2} = 4 - x$   
 $(y-3)^2 = \frac{4}{4-x}$   
 $y-3 = \frac{\pm 2}{\sqrt{4-x}}$ 

Since the range of  $m^{-1}$  is  $(-\infty, 3)$ , the same as the domain of *m*, we must take the negative, so  $y = 3 - \frac{2}{\sqrt{4-x}}$  A1 Now the domain of  $m^{-1}$  is the same as the range of *m*, that is  $(-\infty, 4)$ . To state the function, we need to state both the domain and the rule.

$$m^{-1}: (-\infty, 4) \to R$$
,  $m^{-1}(x) = 3 - \frac{2}{\sqrt{4-x}}$  A1

iii. the graph of 
$$m^{-1}$$
 crosses the x-axis at  $\left(\frac{32}{9}, 0\right)$ , since  $m(0) = 4 - \frac{4}{9} = \frac{32}{9}$   
and crosses the y-axis at  $(0,2)$ , since  $m^{-1}(0) = 3 - \frac{2}{\sqrt{4}} = 2$  A1  
for the graph of  $m(x)$   $x = 3$  is a vertical asymptote and  $y = 4$  is a horizontal  
asymptote, so for the graph of  $m^{-1}(x)$   $y = 3$  is a horizontal asymptote and  
 $x = 4$  is a vertical asymptote. A1

correct graph, shape, reflection in the line y = x, and the intersection of *m* and  $m^{-1}$  must be on the line y = x. A1

$$m(x) = 4 - \frac{4}{(x-3)^2}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 3 \quad HA \text{ for } m^{-1}$$

$$y = 4 \quad YA$$

$$for \quad m^{-1}$$

$$g =$$

$$A = 2 \left[ \iint_{0} \left( \frac{32}{9} - \left( 4 - \frac{4}{\left( x - 3 \right)^{2}} \right) \right) dx + \iint_{2}^{6} \left( \frac{32}{9} - b \sin^{2} \left( n \left( x - c \right) \right) \right) dx \right]$$
A2

or alternatively, other equivalent answers are possible.

$$A = 2 \left[ \int_{0}^{2} \left( \frac{4}{(x-3)^{2}} - \frac{4}{9} \right) dx + \int_{2}^{6} \left( \frac{32}{9} \cos^{2} \left( \frac{\pi}{8} (x-2) \right) \right) dx \right]$$







the line through *ABCD* is half the maximum value, that is  

$$y = \frac{16}{9}, \text{ solving } \frac{16}{9} = 4 - \frac{4}{(x-3)^2} \text{ with } 0 < x < 2$$
gives  $x = 1.65836$  solving  

$$\frac{16}{9} = \frac{32}{9} \sin^2 \left(\frac{\pi}{8}(x-2)\right) \text{ with } 2 < x < 10$$
gives  $x = 4$  and  $x = 8$   

$$A \left(1.6584, \frac{16}{9}\right) B \left(4, \frac{16}{9}\right) C \left(8, \frac{16}{9}\right)$$
the length of  $AD = 2(4 - 1.65836) + 4$  or alternatively  $= 1$ 

1 1 2 1 2 *Kilbaha Mel	EL 🗸 👖 🕅
$nSolve\left(\frac{16}{9} = f(x), x\right)   0 < x < 2$	1 65836
nSolve $\left(\frac{16}{9} = g(x), x\right)$  2 <x<10< td=""><td>4.00000</td></x<10<>	4.00000
nSolve $\left(\frac{16}{9} = g(x) x\right)$  6 <x<10< td=""><td>8.00000</td></x<10<>	8.00000
2 (4-1 6583592135001)+4	8.68328
1	13/99

2(6-1.65836) length ABCD is 8.683 metres

A1

$$C \quad S$$
  
**a.i.**  $C \begin{bmatrix} 0.65 & 0.55 \\ 0.35 & 0.45 \end{bmatrix}$  Let  $A = \begin{bmatrix} 0.65 & 0.55 \\ 0.35 & 0.35 \end{bmatrix}$   
 $C \rightarrow C \quad 0.65 \quad C \rightarrow S \quad 0.35 \quad S \rightarrow C \quad 0.55 \quad S \rightarrow S \quad 0.45$   
 $Pr(Coles \text{ once}) = Pr(CSSS) = 0.35 \times 0.45^2 = 0.0709$  A1  
**ii.**  $Pr(Coles \text{ twice}) = Pr(CCSS) + Pr(CSCS) + Pr(CSSC)$  M1  
 $= 0.65 \times 0.35 \times 0.45 + 0.35 \times 0.55 \times 0.35 + 0.35 \times 0.45 \times 0.55$   
 $= 0.2564$  A1  
**iii.**  $Pr(Coles 3 \text{ times}) = Pr(CCCS) + Pr(CCSC) + Pr(CSCC)$   
 $= 0.65^2 \times 0.35 + 0.65 \times 0.35 \times 0.55 + 0.35 \times 0.55 \times 0.65$   
 $= 0.3918$  A1

$$\Pr(\text{Coles 4 times}) = \Pr(CCCC)$$

$$= 0.65^{\circ}$$
  
= 0.2746

Number of	1	2	3	4
times at Coles				
Probability	$\frac{567}{-0.0709}$	$\frac{2051}{-0.2564}$	$\frac{637}{-0.3918}$	$\frac{2197}{-0.2746}$
	8000 - 0.0707	8000 - 0.2304	1600 - 0.3718	8000 = 0.2740

A1

Expected number of times at Coles

$$E(C) = 1 \times \frac{567}{8000} + 2 \times \frac{2051}{8000} + 3 \times \frac{637}{1600} + 4 \times \frac{2197}{8000}$$
$$E(C) = \frac{5753}{2000}$$
A1

**b.** Now as 
$$n \to \infty$$
  $A^n \to \begin{bmatrix} 0.6\dot{1} & 0.6\dot{1} \\ 0.3\dot{8} & 0.3\dot{8} \end{bmatrix}$  or  $\frac{0.55}{0.55 + 0.35} = 0.6\dot{1} = \frac{11}{18}$   
so the steady state probability that they go to Coles is  $\frac{11}{18}$  A1

**c.i.** 
$$X \sim Bi(n = 50, p = 0.08)$$

$$\Pr(X < 5 \mid X \ge 1) = \frac{\Pr(1 \le X \le 4)}{\Pr(X \ge 1)}$$
$$= \frac{0.61348}{1 - 0.01547}$$
$$= 0.6231$$

ii. 
$$X \sim Bi(n = 70, p = ?)$$
  
 $var(X) = npq = 70p(1-p) = 4.557$   
solving for *p* since  
 $0 gives  $p = 0.07$  or 0.93  
Since  $E(X) < 5$   
 $p = 0.07$$ 



m=0	the second se
μ-0.	07000 or p=0.93000
	×.

iii. 
$$X \sim Bi(n = 40, p = ?)$$
  
 $\Pr(X = 2) + \Pr(X = 3) = 0.47$   
 $\binom{40}{2}p^2(1-p)^{38} + \binom{40}{3}p^3(1-p)^{37} = 0.47$   
 $\Rightarrow -260p^2(p-1)^{37}(35p+3) = 0.47$   
solving numerically using CAS,  
with  $0 
 $\Rightarrow p = 0.0521$$ 

M1

0 05206 ٨

2/99

M1

A1

M1

A1

A1

**d.** X is the time in minutes spent shopping,  $X \sim N(\mu = ?, \sigma^2 = ?)$ 

- (1)  $\Pr(X > 50) = 0.2$
- (2)  $\Pr(X < 36) = 0.37$
- (1)  $\Rightarrow \frac{50-\mu}{\sigma} = 0.842$

$$(2) \Rightarrow \frac{36-\mu}{\sigma} = -0.332$$

(1) 
$$50 - \mu = 0.842 \sigma$$

(2) 
$$36 - \mu = -0.332 \sigma$$

2.2 2.3 2.4 \*Kilbaha Met\_EZ zT = inv Norm(0.8, 0, 1) 0.8416 z2 = inv Norm(0.37, 0, 1) 0.3319  $solve\left(\begin{cases} \frac{50-m}{s} = z1 \\ \frac{\beta6-m}{s} = z2 \end{cases}\right)$  s = 11.9304 and m = 39.9591 $\Box$ 

M1

now subtract equations 
$$(1)-(2)$$
 $14 = 1.174 \sigma$  $\sigma = 12$  minutessubstituting gives $\mu = 40$  minutesA1

# **Question 3**

a.

arc length 
$$l = r\theta$$
 but  $l = 2\pi r$  circumference of base circle of the cone  
 $2\pi r = 12\theta \implies (1) r = \frac{6\theta}{2\pi r}$  A1

 $2\pi r = 12\theta \implies (1) r = \frac{30}{\pi}$ Pythagoras  $\implies (2) h^2 + r^2 = 12^2 = 144$ 

(2) 
$$h^2 = 144 - r^2 = 144 - \left(\frac{6\theta}{\pi}\right)^2 = 144 - \frac{36\theta^2}{\pi^2}$$
 M1  
 $h^2 = \frac{36}{4\pi^2 - \theta^2}$  so that  $h = \frac{6}{\sqrt{4\pi^2 - \theta^2}}$  since  $h > 0$ 

$$h^{2} = \frac{30}{\pi^{2}} \left( 4\pi^{2} - \theta^{2} \right) \text{ so that } h = \frac{0}{\pi} \sqrt{4\pi^{2} - \theta^{2}} \text{ since } h$$

Now volume of cone  $V = \frac{1}{3}\pi r^2 h$ 

$$V = \frac{\pi}{3} \left( \frac{36\theta^2}{\pi^2} \right) \frac{6}{\pi} \sqrt{4\pi^2 - \theta^2}$$
  

$$V = V(\theta) = \frac{72\theta^2}{\pi^2} \sqrt{4\pi^2 - \theta^2} \quad \text{shown}$$

**b.** 
$$\frac{dV}{d\theta} = \frac{72\theta \left(8\pi^2 - 3\theta^2\right)}{\pi^2 \sqrt{4\pi^2 - \theta^2}} \quad \text{by CAS}$$
A1

for max/min 
$$\frac{dV}{d\theta} = 0$$
 solving, since  $\theta > 0 \implies \theta = \frac{2\pi\sqrt{6}}{3}$  by CAS A1

$$V_{\text{max}} = V\left(\frac{2\pi\sqrt{6}}{3}\right) = 128\pi\sqrt{3} \text{ cm}^3 \text{ by CAS}$$





c. Numerically solving  $V(\theta) = \frac{1}{2}V_{\text{max}} \implies 64\pi\sqrt{3} = \frac{72\theta^2}{\pi^2}\sqrt{4\pi^2 - \theta^2}$  A1 for  $\theta$  since  $0 < \theta < \pi \implies \theta = 2.93$  A1

**d.** *r* and *h* are now the radius and height respectively of the mousse in the cone, given that  $\frac{dV}{dt} = -0.5 \text{ cm}^3/\text{sec}$  find  $\frac{dh}{dt}$  when h = 4 cm $V = \frac{1}{3}\pi r^2 h$  and  $\tan(\alpha) = \frac{r}{h} = \sqrt{2} \implies r = \sqrt{2} h$  substituting A1

$$V = \frac{2\pi h^3}{3} \implies \frac{dV}{dh} = 2\pi h^2$$
 M1

$$\frac{dh}{dt} = \frac{dh}{dV}\frac{dV}{dt} = \frac{-0.5}{2\pi h^2}$$
  
when  $h = 4$   $\frac{dh}{dt} = -\frac{1}{64\pi}$  cm/sec or falling at a rate of  $\frac{1}{64\pi}$  cm/sec A1

a.

$$y = f(x) = \frac{1}{x} \qquad R\left(r, \frac{1}{r}\right)$$
$$\frac{dy}{dx} = f'(x) = -\frac{1}{x^2} \qquad f'(r) = -\frac{1}{r^2}$$
A1  
the equation of the tangent at *R* is

the equation of the tangent at R is

$$y - \frac{1}{r} = -\frac{1}{r^2} (x - r) = -\frac{x}{r^2} + \frac{1}{r}$$
  

$$y = -\frac{x}{r^2} + \frac{2}{r}$$
  

$$m = -\frac{1}{r^2} \text{ and } c = \frac{2}{r}$$
  
A1

**b.** 
$$P\left(p,\frac{1}{p}\right)$$
,  $Q\left(q,\frac{1}{q}\right)$ ,  $R\left(r,\frac{1}{r}\right)$ 

Since *M* is the midpoint of *PQ*  $M\left(\frac{1}{2}(p+q), \frac{1}{2}\left(\frac{1}{p}+\frac{1}{q}\right)\right)$  A1

gradient 
$$OM = \frac{\frac{1}{2} \left( \frac{1}{p} + \frac{1}{q} \right)}{\frac{1}{2} \left( p + q \right)} = \frac{\frac{p+q}{pq}}{\frac{p+q}{p+q}} = \frac{1}{pq}$$
 A1

gradient 
$$OR = \frac{\frac{1}{r}}{r} = \frac{1}{r^2} = \text{gradient } OM = \frac{1}{pq}$$
  
so that  $r^2 = pq$  shown A1

gradient 
$$PQ = \frac{\frac{1}{q} - \frac{1}{p}}{q - p} = \frac{\frac{p - q}{pq}}{q - p} = -\frac{1}{pq}$$
 A1  
 $f'(r) = -\frac{1}{r^2} = -\frac{1}{pq}$  from **a.** and **b.** A1

so the tangent to the curve at R, is parallel to the line segment joining P and Q.

**d.** 
$$A = \int_{p}^{q} \frac{1}{x} dx$$
$$A = \left[\log_{e} |x|\right]_{p}^{q} = \log_{e}(q) - \log_{e}(p) \text{ since } q > p > 0$$
$$A = \log_{e}\left(\frac{q}{p}\right)$$
A1  
**e.** 
$$Area = \int_{r}^{r} \frac{1}{x} dx$$

Area = 
$$\left[\log_{e} |x|\right]_{p}^{r} = \log_{e}(r) - \log_{e}(p)$$
 since  $q > r > p > 0$  A1

Area = 
$$\log_e \left(\frac{r}{p}\right)$$
 now from **b.** since  $r = \sqrt{pq}$   
Area =  $\log_e \left(\frac{\sqrt{pq}}{p}\right) = \log_e \left(\frac{\sqrt{q}}{\sqrt{p}}\right) = \log_e \left(\frac{q}{p}\right)^{\frac{1}{2}}$  A1

Area = 
$$\frac{1}{2}\log_e\left(\frac{q}{p}\right) = \frac{1}{2}A$$
 A1

**f.** The line *OP* is 
$$y = \frac{x}{p^2}$$
 for  $0 \le x \le p$ , the line *OQ* is  $y = \frac{x}{q^2}$  for  $0 \le x \le q$  A1  
the area between the curves is

$$B = \int_{0}^{p} \left(\frac{x}{p^{2}} - \frac{x}{q^{2}}\right) dx + \int_{p}^{q} \left(\frac{1}{x} - \frac{x}{q^{2}}\right) dx$$
$$g(x) = \frac{x}{p^{2}} - \frac{x}{q^{2}} \quad \text{and} \quad h(x) = \frac{1}{x} - \frac{x}{q^{2}}$$
A1

g.

$$B = \left[\frac{x^2}{2p^2} - \frac{x^2}{2q^2}\right]_0^p + \left[\log_e |x| - \frac{x^2}{2q^2}\right]_p^q$$
$$B = \frac{p^2}{2p^2} - \frac{p^2}{2q^2} + \left[\left(\log_e (q) - \frac{q^2}{2q^2}\right) - \left(\log_e (p) - \frac{p^2}{2q^2}\right)\right]$$
$$M1$$
$$B = \frac{1}{2} - \frac{p^2}{2q^2} + \log_e \left(\frac{q}{2}\right) - \frac{1}{2} + \frac{p^2}{2q^2}$$

$$2 \quad 2q^{2} \quad e^{q}\left(p\right) \quad 2 \quad 2q^{2}$$
$$B = \log_{e}\left(\frac{q}{p}\right) = A$$
A1

### **END OF SECTION 2 SUGGESTED ANSWERS**